= AH O
N = 0 &8 AF S & Al A
20109 20A FXUHESESH A
2N NSHEY
Mz YHEE wEstH 2=
SRl F=X22 SE(=NEELA) (&2 &
_ _ boE ==
2N -3 - c2(3H) - NEME - HES Ol &F2H @;OH Hns
nEd 3,600,400 86,823 3,513,577
WS WEEE 5 3,590,000 60,383 3,529,617
FAUB2 EE(=ANEELESH) 3,590,000 60,383 3,529,617
eI 2S2(2LEED) XoHEXE HA 3,570,000 0 3,570,000
401 Al&HIL 20 3,570,000 0 3,570,000
01 Al&H| 3,570,000 0 3,570,000
NI ES 2 (2LEED) XoHERE HE
570,000,000 « 14! 3,570,000
s S9FE 55 20,000 0 20,000
401 AlEHIZE20HI 20,000 0 20,000
01 Al&HI 20,000 0 20,000
NDEIS YUY M 2oy
20,000,000 14! 20,000
HYSHAH (NS 10,400 26,440 16,040
JI2ZHI(=XNEELHIAH) 10,400 26,440 A 16,040
23l 10,400 26,440 A 16,040
201 Lt AH| 10,400 26,440 A 16,040
01 AFR22|H] 2,400 5,440 23,040
1)J12 AIRE2E| 20,0008 x7H 43| *80% 448
1)J12 AREE018 30,0008 x7H 43| «80% 672
DAL SKHI(Z2IED1)
400,000 *1CH 45| x80% 1,280
02 3324 8,000 21,000 A 13,000
NXESI 22l 4,000,000 *20H 1 8,000




SN

=
-
g 1l
K

chel: d8 =Xl 2 (FUHESESAH) (et =3
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
= Xt2e| 5,706,600 6,135,177 N428,577
ME=F--3=i 9] 1,809,084 2,086,883 AN277,799
ST FXZEMA 2GS (FAESESA) 1,267,599 1,554,338 N286,739
EHTEXN ROUHZAAEH 2 384,460 380,948 3,512
201 B3| 169,460 200,948 A 31,488
02 =234l 169,460 200,948 A 31,488
nNa3g2=2 2 HMAl 50,754
2)8 &t ME3H
166, 0003 * 1404 A+ 123 27,888
2)8ZIt0et S HIIMNEBE
1,905,500& x12& 22,866
NRoI3tnet |X B4 1,695,800,000& *7% 118,706
401 Al&HI LR OHYI 215,000 180,000 35,000
01 Al&H| 215,000 180,000 35,000
NRelctEItn et & X 45,000,000 *3CH 135,000
1RoIe=3t0et Ol™AX 7,000,000 * 100 A 7,000
1)U-CCTV3toiiet & X 18,250,000& *4CH 73,000
=X 4S5 = 239,240 229,860 9,380
201 Let2g| 168,300 147,860 20,440
01 AtE22/H] 66,860 56,220 10,640
et~ 37,400
2)2Y =& X WEE 1002 +10,00001*42 D] 4,000
2)SYFHI WEHS 2 & A0l
100& *5,0000H x4 7| 2,000
)= YA A&
100& *20,0000H* 1A 2,000
)= Xlet HXHE 3,000 1003 42| 1,200
2)F Xl 20E 100& *5,00004 x4 7| 2,000
2)SYFHXMENE OlMFHI =AM
25% 10,0000 x22! 500
Q)EEE =9 MUl 90,0002 x200 1 1,800
2)tHlets A28 2 =2/l
500,000& 4= | 2,000
Q)Y =Xt ¢ ==l 60,0002 *1H*3652 21,900
NS I=4l 22,460
2)Eot= 130,000& *26H 23| 6,760
)5 L Ygst= 300,000& 26 13l 7,800
2)2 st 100, 0003 26 #23| 5,200
2)R= 150,000& 18 »12] 2,700
1o SEFFXHS Sl
,000& *104!1x10Z + 102 7,000
02 =234l 101,440 91,640 9,800
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el 48 =X2MA 2SS (=HESEIA) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
N332s ¥ MAl 30,640
2)PDA AHE = 50,000 *6CH*12& 3,600
Q)HEEANEE 80,000 140122 13,440
JNSTHEE = 550,000 *11CH* 1= 6,050
2) S XA 200,000 = 11CH 2,200
)SBNE=RES 70,000& *3CH 22| 420
2)080%4l HMSRI 90,000& x12& 1,080
2)PDAR X &2 == 3,850,000 14 3,850
1)=xt2elg 19,200
2)ZTAINARSB 700,000& 12 8,400
IMNRH MRS 700,000 x12& 8,400
2)AH0IETV AL 2 70,000& 123 840
2) S AIAE 130,000& »12& 1,560
1) X &l 51,600
2) xR = 275,000& ~120H 123 39,600
2) X E KX 1,000,000 x12& 12,000
203 YR =& 8,550 8,550 0
03 AMH=XHRFAH| 8,550 8,550 0
NEXes geFx 400,000& 122 4,800
NFe NEFNHAT HRFT
250,000& *1501 = 3,750
206 M= dl 7,800 7,800 0
01 M=Hl 7,800 7,800 0
N=xzelg Ad2aid 650,000& 12 7,800
303 T4 44,400 44,400 0
01 Z&=3 44,400 44,400 0
DNEHSSE LS 100,000& »37& «12& 44,400
405 XtotE SHI 10,190 21,250 A 11,060
01 MM =SFHSHI 10,190 21,250 211,060
Ne=E Jttllet 2L 400, 000:& *5CH 2,000
nNgss sHE 2L 250,000& »7CH 1,750
1)POAR S AMBIAIAE 2 5,000,000& = 1CH 5,000
=xtztelg stE4A didl 360,000 »4CH 1,440
ZXEEIY HA HANS L R BE 5,000 0 5,000
401 AlEHI LS HH 5,000 0 5,000
01 AI&HI 5,000 0 5,000
=xt2eld #A s8Rl
5,000,000 * 14| 5,000
ENSEEIQA(TAQN) 012 el 124,800 124,800 0
301 et a =z 124,800 124,800 0
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HH
chel: d8 =Xl 2 (FUHESESAH) (ctel: &
SN S(B) - NRAY - B2 Aro Bl =2
0l &
09 BAIZLRIBLES 124,800 124,800 0
NBUDLQAR LS 124,800
2)es 80,000 x40 123 38,400
2)= A 5,000 «2041 x40 123 48,000
2)wEHl 2,000& *20L *40H 123 19,200
2)0ddl 2,000 *20L «40H »12& 19,200
QI SAFTE WY 10,000 10,000 0
402 LIt XHE01H 10,000 10,000 0
01 BIAXGEEX 10,000 10,000 0
NREA=XE W A& e BEx3
5,000, 0003 *4IH 2 *50% 10,000
FXd ZHl 41,000 46,800 25,800
401 A &HIZL 2048 41,000 46,800 5,800
01 Al&H| 41,000 46,800 25,800
NEXTES & IHE2 HEYI
41,000,000& 1 41,000
SYFI A 360,720 408,864 A48,144
201 et 120,000 120,000 0
01 AtE222/H] 120,000 120,000 0
nNaolgas Axs 120,000, 000& 1 120,000
307 QI2t0IA 240,720 288,864 A48,144
05 BIZtRE = 240,720 288,864 A48,144
NeI2FA A Aol &y
40,000 * 100 & A +500CH / 12+ 122 240,000
nNAs=Ezs 240,000, 000& *0. 3% 720
ol gl Bl 102,379 353,066 A 250,687
801 OllHIbl 102,379 353,066 A 250,687
01 olldldl 102,379 353,066 A 250,687
1ol 102,379,000& 1 102,379
HEUMHE E>2HI(FAESESH) 541,485 532,545 8,940
FEXLIE BEHE 20 & 2l 541,485 532,545 8,940
201 LetEIH| 483,900 474,500 9,400
01 AFR22lH| 2,280 1,700 580
NEROXA I 603 x8,00001 =1 480
NLESSEN Bl 3,000 6002 1 1,800
02 2223H| 481,620 472,800 8,820
NREL3 459,660
Q)EL2M= DXAN UMESH(RERIELEH) 16,560
RYPNRSE=PN 30& %10,00000 =122 3,600




SN

I E%E—i}JHﬁ
H6el: SEFUUHE FSsSH2(FUHESESA) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
3)==AlE 30& *6,00000 =122 2,160
NHE=EEE 302 +30,0000H*12& 10,800
)LM= sER2S 443,100
3)ALEE X 1,7502 %10,0000H 122 210,000
3)==AIZ 1,7502 »36,00000 <123 126,000
IANHEX (BHEE) 250& *4,00004* 12 12,000
3)=AZ(BSE) 250& =1,7000H* 12 5,100
JSEME(BSE) 2502 +30,0000H 122 90,000
NEAABKFR S (HAZLEDL
1,500,000& 123 18,000
NIt A S E 553 6,000 x 122 3,960
303 Ea= 57,585 58,045 2460
01 Z&=3 57,585 58,045 AN460
NUAEE EHFFNALLHE A2 Y S 57,585
2)20094 & 2,700,000, 0002 *11%*1% 2,970
2)20084 = 1,630,000, 0003 *10%*3% 4,890
2)200749 & 2,800,000, 000 *9%*5% 12,600
2)20064 & 1,580,000, 000 *8%x5% 6,320
2)20054 & 1,630,000, 000 *7%*5% 5,705
2)2004E & 1,100,000, 000& *6%*5% 3,300
2)20038 & 01 & 10,900, 000, 0003 *4%*5% 21,800
FEIOF =X ol 866,200 738,700 127,500
SMEI0IS T4 AL (FUHESESA) 866,200 738,700 127,500
Jdelnd 2010. 22 ME 866,200 738,700 127,500
201 Y2 Y| 11,500 8,000 3,500
01 At22t2lH 8,000 8,000 0
nNses M 2,200,000 14 2,200
nags< 5,800
)N=2RAE =< 100, 000& x5& *22] 1,000
)FUFTAA ¢ 50,0003 x32H »33] 4,800
03 A2 HI 3,500 0 3,500
1) =AY AAS 100,000 35«12 3,500
203 LR =& 6,500 7,000 A500
03 A=A HS=AH| 6,500 7,000 A 500
D2 ()R 2ES 600,000& »33! 1,800
N=2282 .88 FU8Y3) 200,000& «20=] 4,000
NEEEI METZ =4 2B
700,000& 14 700
303 &z 1,700 0 1,700
01 Z&=32 1,700 0 1,700




=Xtatel
FEJF =X oA
SMEI0IE 248 MY (=EUHESESAH) = RS E
SA BB CR(SH) - NRAY - A S Aol e =2
N1z 25 A4 1,700
Q)ERES 500,000& 1 S *13l 500
)RS 300,000& 2 S*13l 600
2)&HS 200,000& *3)h =13l 600
401 A EHIZL 204 846,500 723,700 122,800
01 Al&t| 842,500 720,000 122,500
NI oz 2010. Z2XME 842,500,000 #14] 842,500
03 Al 2 0HY| 4,000 3,700 300
DAIZ 20y 4,000,000 =14 4,000
FS (=Xt2tel ) 2,797,596 3,069,934 A272,338
SHAHXNE(FANESESIH) 2,797,596 3,069,934 A272,338
FIE 28 29 2,300,000 2,548,650 A 248,650
309 BINEBNMNEES 2,300,000 2,548,650 A248,650
02 SA- SHIAEEZ 2,300,000 2,548,650 A 248,650
NELE Aeg=29 2,300,000,000& =1 2,300,000
QIHSAIAE A5 Ol &E 497,596 521,284 A 23,688
705 Ol=3dcla4ae 497,596 521,284 A23,688
01 O~ 34&e 408,702 408,702 0
NS EAN2 A (5EHZE) 408,702
2) 4Bt 2,043,510,000& *1/5E%1/2 204,351
2)3tet D] 2,043,510,000& *1/5=%1/2 204,351
02 Ol==330lXt&tet 88,894 112,582 A 23,688
NEEg2CINS SIS 0l A as 88,894
2)AHEHD| 1,634,808,000& *5.8%+1/2 47,410
2)5tet | 1,430,457,000& *5.8%*1/2 41,484
HY2IHH(Fa22l) 233,720 239,660 A5,940
QAR (FIEHSES ) 5,580 5,760 A180
FAME 2 5,580 5,760 A 180
203 HRF&H| 5,580 5,760 A 180
04 SN2ILRFAHI 5,580 5,760 A 180
NENSSYLETL (R 53Y)
465,000 x12& 5,580
JI2BH(FNESESAH) 228,140 233,900 A5,760
=23l 228,140 233,900 25,760
201 B3| 80,540 82,700 A 2,160
01 AtE22/Hl 80,540 82,700 A2,160
NJlE MREEYI 20,0003 39 *43| x80% 2,496
N2 MRE308 30,000 39 +43| x80% 3,744




SAM: =2t

Y YA (FR2el)

&l JI2ZH(FUHESEESIAH) (ctel: &
= X ZH . ClO (5 S Ao . HAM 2 Al OH HEE =2}
T}\—I.O_|.I_T|(2|j1|).}\-“_|_}\|-|:1.Lo_i 04|L_| 0:”/\|,o|.| I:”JJ—BCJ

— T

NP ZHIFXIHI(Z2IEHIIZ, S ADIT)

400,000 *4CH x4 3] x80% 5,120
NE2=4dl 7,0003 +41Z #2041« 123 68,880
NEM=7HI 50,0003 =38 *23 300
202 O 147,600 151,200 23,600
01 =LHAOYI 147,600 151,200 A3,600
NEZNYI 20,0002 »41H x 15«12 147,600




